0 7 =Bl —1

| R
wE | B
TN T AR FE R AT AR B BRI S TR R AR

K4

2048 (M1~M5 445

1
Xx=3n+2. y=5n+3
2
—6<a<—2
3
X:%ﬂ'\ %x@k =, w/AME—T7
i 4
B RHI B /NG
(x=1)\x+2) (x—1)x+2)3x—2)
5




0 7 = —2

s | me R4

TN T AR FE R AT AR B BRI S TR R AR

20/ (M11)~2) &4, M201)~3) 44 x5)

[ 1 (1)
1<A[3<2XY,2<4—[3<3
FoT x=4—[3-2=2-[3
x—2:—\/§
WL 254 % &
X*—4x+4=3
X*—4x+1=0

F 1 (1) B 1
1<+f3<2k 0, 2<4—[3<3
L 5T, x=4—3-2=2-[3

X—4x+1=x(x—4) +1=(2—3) (\[3-2) +1=—1+1=0

1 (1) 1% 2
1<4f3<25 0, 2<4—[3<3
L 5T, x=4—3-2=2-[3

X—4x+1=(2—[3)? —4(2—3) +1=7-4/3-8+4/3 +1=0

R 1(2)
P(x) =2x1 =7x3 —x2 —x—3 &<t
P(x) = (x*—4x+1) (2x¢+x+1) +2x—4
1LY x=2-[3D & % x¥—4x+1=0

P(2—\[3) =2(2—[3)—4=-2[3

[l 1 (2)D5fE 1
P(X) =2x'—=7x— x¥*x—3 B¢
X~4x+1=0X0, ¥*=4x-1
x'= (4x—1)?=16x*-8X+1=16 (4x—1) —8x+1=56x—15
X3=X(4x—1) =4x*—x=4(4x—1)—x=15x—4
P(x) =2 (56x—15)—7 (156x—4) — (4x—1)—x—3
=112x—105x—4x—X—30+28+1—3
=2x—4
P(2—[3) =2(2—[3)—4
:fg\/g




0 7 =% —3

mhe | 2
s | me R4
T B TR oA S 2 He B B B SR T

[t 1 (2) DRl 2
P(x) =2x'—=7x*~ x*x—3 Ll L
X'=(2—[3)?=7-41[3
X = (7—413) (2—[3) =26—15/3
x'= (7—47[3)2=97—56+[3
P(2—[3) =2(97-561[3) —7 (26—15+/3) —(7—41[3)—(2—[3)—3
—194—182—7—2—3—(112—105—4—1)/3

:_2\/5

2 (1)

an=at(n—1)dEB< &, ata;=10L0,
ata+2d=10 ..a+d=5 @
a+a,=14%Y ., atd+at+3d=14
Sat2d=7 @

DO@Xv, d=2,a=3
an=3+2(n—1)=2n-+1

22
bh=b-r"'t %< &, b+b,=10k Y. b+br’=10 @
b,+b,=30% V. br+br’=30 ..r(b+br’)=30 @
D@Xxv., r=3.b=1
bp=1-3""=3""

i 2(3)
an:2n+1\ bn:3n71c]: D N
S$h=31+5-3+7-3"+---+(2n—1)-3"*+ (2n+1)-3""

—) 38, = 3:3+5:3° 473 F +(2n—1)-3""'+ (2n+1) - 3"
S _3Sn:3.1+2.3+2.32+ ..................... _|_2.3’H_(2n_|_1).3”
—28,=1+2+2+3+2:3°+---+2-3""—(2n+1) - 3"
2(3"—1
—28n21+% —(2n+1)-3"

28,=(2n+1)-3-3"+1-1
Sn:n'Sn




0 7 = —4

mhe | 2
s | me R4

TN T AR E R NS AR B BRI S SRR R

sBac=2t8 T 1
€08 T 2X3%X8 2
0° < /BAC<180° LV

ZBAC=60°

(1) DRI fiE
ABACOHFEZSET 5 &,

3+8+7
=9V, 5=9(9-3) (9-8) (9-7) =63

1
5 X 3X8XsinZBAC=61/3

sin ZBAC :@

ZBAC=60°". 120°
BC<ABX Y. ZBACIIHERKOATIIRVWDOT, LBAC<90°
r->7T. /ZBAC=60°

(2)
ADIZ/BACKH — 258372 DT, AB:AC=BE:EC
BE*?XL*@
- U78+3 11
(3)

/ZBAC=60" XV, ZBDC=120°

F7-. ADIZZLBACOD 587D T, LBAD=/ZDAC
L~-7T, BD=CD

BD=CD=x &< &.

72=x2+X2—2 XX XX X c0s120°

49=3x*

49

T3

x>0 &0

XZ

CD:@




0 7 =5l —

Wy | &5 KA

TN T AR FE R AT AR B BRI S TR R AR

()

AABE & ACDE iz, C

ACoMEfELY  LABE=ZCDE @
7. XTEAITS LT LAEB=ZCED @
O, @& 2fOARZENETNELVOT AABEACDE
FEEIFZE LV O T
BE : DE = AB: CD

56 N_
11 :DE=8:

- DEZ 19V

33

(4) DRI

1

7XACXAEXs1n30°+ 1 XABXAE xsin30° =

5 XACX ABX sin60°

%xSxAExl+lx8xAEx L

7732 72X
243
AB=—7—

H
w
X
[oe]
X
Il
SEREN

Ji_&xoE k. CE-EB=AE-DE

21 56 243
X7 =10 <PE

_ 21x56 _ 493
11x24/3 33

AAECE ABEDIZH500C,
Z/CAE= /DBE=30"
ZCEA= /DEB (%T8)
Eo T, RIET 3 2MOADKE SBENENE LNOT,
AAECeABED

49 49
CE:DE=<7 11>' 3?‘; 11 : 3{5_ Ve
AAEC : ABED= CE? : DE? =81 : 147—27 : 49




0 7 = —6

st | 2w
Wy | &5 KA
B 7 AR R A S R BT R A T

(1)
(cos @ +isind)"=cosnd+isinng-- @
[FERA ]
Dn=10 & =,
(£F£3)) =cos @ +i sin ¢
(F3i) =cos @ +i sin &
EoT. n=10 & 2OIFRY 322,
2)n=k k=D D LEONPEY IO ERET D &
(cos @ +isin@)k=coskd+isink g ©)
FoT, n=k+tl DLx,
(#£32) = (cos @ +i sin )%+
= (cos 4 +isin #)*(cos & +isin &)
@&b,
(#£31) = (cos k & +isink @) (cos & +i sin &)
=cos k #cos #—sin k #sin 4 +i(sin k &cos & +cos k dsin &)
=cos(k+1) #+isink+1) &
(£7i) =cos(k+1) 4 +isin(k+1) ¢
L oT, n=k+1D & =OIFR Y 3z,
D.2) &0, _XToOAKREnIzk LT, OS> &M,
BB Lo TOREhTz,
(FEFA#)
(2)

2 .. 2
z=cos¢7 +zsm§7r Il/IN

2 L. 2 \b
5_ — —
V4 —<COSS7T+ZSIHSTI‘>

=cos2r +isin2x«
=1




0 7 = —17

wE | B

K4

TR0 T BRI VLA ST A B B R 8 SR

7

A

=%

SiS

zt+z+224+24+1=0
=0 IHLFTIFRVD T, 20
W% z2 TED L
Ptz l +i2=0

x x

2
<x+l> —2+<x+l>+1=o
x x

T S

x

t24+t—1=0
—-1+./5
f=——— ¥
2
t::l%ii@&g\
R S e
x 2

222 —(—14./5)z+2=0

o —1HVEEV/(1-4/5)7—16
4
_—1+J5 " «/10+2ﬁi
- 4

1
Al Sl VA
7
eptoT1-V5
z 2

22— (—1—5)z+2=0
_—1- V5 /AT VP16
4

_—1-F |, J10-2/5 .
I S 1

x

Lo,

—14+.5 | J/10+2\5 .
r= 1 + 1 i,

—1-5 | V10-2/5
f * 1




0 7 =% —8

mhe | 2
s | me R4
T B TR oA S 2 He B B B SR T

xX'+x3+x*+x+1=0

x=1IH NI TITRVWD T, x—1#0

Lo T, WA x—1Z& 20 T HRMERERIZZ biviaw,
(x—1) (x*+x*+x*+x+1)=0

SxX—1=0

L7235 T, X ZX—1=00EHMTH 5,

X=cos d+isind L8 &,

(cos @ +isin 4)°=1

cos5 4 +i sinb 4 =cos2nr+i sin2nr (72771 n 13350

iof\50=2nz.20=%?ﬂ

n=10nktx, x=cos%n-+isin%n-

cos%n’>0 . sin%n>0 7RDT,

CIESUN

2 —-1+.5 2 V10+2./5

cos = = 1 . singr = i

EHAEOmELYS &35 &,

1 . T
S_10><7 ><1><1><s1n§

gm§>06@5w%

T 1—cos§n
5 \ 2

/ —1+./5

I—T

2
5-V5
8
_ V1025

4

5,10 —2,/5

4

LT, S=




0 7 =51 —9

s | me KA

TN T AR FE R AT AR B BRI S TR R AR

204 (M1 448 RI201)448, (254, (324, 4)5 5

91
, .. log(x+h)—logx
(ogs = g B
.1 h
_£%710g<1+7>
.1 =z h
=lim - Slog 1+
%:k LB L. h0 DEE, o0
. ox 1
ifu\ %—?
(logxY = lim~log(1+ £)F
g _k—>0 X g
m(l4k)F=e L0,
k—0
| z_1 _1
(logx) _}el_%lzlog(l—kk) = loge = p
R 2(1)
f(x) =log x—(ax+h)
1
' (x) = a
X=1THKE2% & 5D T,
f(1)=1—a=0
f(1) =log 1—(a+b) =2
a=1.b=-3

oL, f/(x)z%—lz 1;"

0<x<LIZBWT, f(x)>0

1<x IZBW\T, f(x)<0

FoT, x=lizBWnTKk L5,
a=1.b=-3




0 7 =m#fl—10

wE | B

K4

B 7 R W B L R BT B e

HE

22
a=1.b=—3%L0,
f(x) =log x—(x—3)

R
f(x)—X 1
fx)=0Lbv., x=

' (x) = —%

1

Lo T, x>0IZBWVT, ROMEHEEZGD,

X 0 1
J(x) + 0 -
f//(x> _ _
f(x) 4 2 N

lirEO(logx—x+3)=—w £ 0. =0 [T
lim(log x —x+3)=lim{3—(x—log x)}|= —

y 3

2




0 7 =5l —

wE | B

K4

RN T AR R AN

*Lﬁéﬁkﬁﬁ @%uﬁ%ﬁ R }Eﬁl&

i 2 (3)
1 1—e
f'(e) ——1 =
Ko, #fre o
1— —1 —1
sze (x—e) +4—e= —eTx—1+e+4—e: —eTerS
R 24)
Y1 x=2e
A—g | f S
0 e K
AN

2‘??@6@%%5 i AR

-l

Il
mm
« lm\')f\
/\

- —10gx>dx

x+3 (log x — x+3)}dx

i
= %(462— e?) —{(2elog 2e —2¢)— (e—e)}

ol Do w
AN

—2¢(log2 +1)+2e

(3—4log2)




